Name: Score:

[ Identifying Solutions - MCQ] Two-step: S1

Choose the correct solution that best describes each inequality.

A4
1) |5x+10|>20 2) |8x|-5=3
a) (~o0,-2) U (6, ) b) (~o0,~6) U (2, o) a) (~o0,~1] b) (~e0, 1]
Q) (-0, =2) U (-6, =) d) (=o0,2) U (-6, o) Q) (=00, =11 U [1,00) d) No solution
J
/3) |x-10] . ‘r ‘Nr
a) (=55 (-35) LM Gain complete access to the largest b) (=e0, =31 N [3, )
Q) (o0, 55) lcollection of worksheets in all subjects!} 4 No solution
Not a membery
5) | 7x-14] =56 oq Please sign up to
gain complete
4ccess,
a) (~o0, 6] U [10, ) b b) (-, 26)
Q) (=00, =10] U [-6, o) d www.mathworksheets4kids.com d) (o0, 26) M (=26, o)
A4
7) |-11x|+13<35 8) |x+16|-15<17
a) (o0, 2] N [-2, ) b) (~c0, 2] U [2, ) a) (<00, -16) N (-48,00)  b) (~c0,48) M (16, o)
Q) (=o0,2) N (=2, ) d) No solution Q) (=00, 16) M (=48, o) d) (oo, 48) N (=16, o)
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